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Optics-Geostationary : the optimal (only) solution to catch seism waves? 

Telescope 

Larger telescope would be very challenging (no launcher, no telescope). 

Horizontal and Vertical Components : 6cm rms-100m-1Hz. Better? 

10% to 25% of light used,  place enough for other applications. 

Payload critical but ok (stability, data management, energy, etc.). 

Need further investigations (atmosphere, moon light, meteorology, wide field telescope, 

geostationary environment, etc.). 

Need from preliminary assessment by inverse modeling. 


